The second version of the test program tests the arithmetic functions.

However, it has extra diagnostic output that we don't need because we already know that MakeFraction and GCF work so we should take it out because it makes the output hard to read.  In addition, we see that we are missing at least one new line;


 ----jGRASP exec: F:\testFractions
 
please enter the numerator of your fraction 1
please enter the denominator of your fraction 2
in make Fraction  entered GCF  your fraction is:   1/2 please enter the numerator of your fraction 1
please enter the denominator of your fraction 3
  in make Fraction  entered GCF  your fraction is:   1/3 fraction1 + fraction2 is  in make Fraction  entered GCF  entered GCF while loop 
  your fraction is:   5/6
  fraction1 - fraction2 is:  in make Fraction  entered GCF  your fraction is:   1/6
  fraction2 - fraction1 is:  in make Fraction  entered GCF  your fraction is:  -1/6
  fraction1 * fraction2 is:  in make Fraction  entered GCF  your fraction is:   1/6
  fraction1 / fraction2 is:  in make Fraction  entered GCF  entered GCF while loop 
  your fraction is:   3/2
  fraction2 / fraction1 is:  in make Fraction  entered GCF  entered GCF while loop 
  your fraction is:   3/2
 
----jGRASP: operation complete.
Here is the same program with more satisfactory output but something's wrong!

 ----jGRASP exec: F:\testFractions
 
 please enter the numerator of your fraction 1
 please enter the denominator of your fraction 2
  your fraction is:   1/2
 please enter the numerator of your fraction 1
 please enter the denominator of your fraction 3
  your fraction is:   1/3
  fraction1 + fraction2 is  your fraction is:   5/6
  fraction1 - fraction2 is:  your fraction is:   1/6
  fraction2 - fraction1 is:  your fraction is:  -1/6
  fraction1 * fraction2 is:  your fraction is:   1/6
  fraction1 / fraction2 is:  your fraction is:   3/2
  fraction2 / fraction1 is:  your fraction is:   3/2
 
----jGRASP: operation complete.


Here is the program.  What did I do wrong?

 1 with Fractions;
 2 with ada.text io;
 3 with ada.integer text io;
 4 with fraction io;
 5 procedure testFractions is
 6    fraction1, fraction2, fraction3 : Fractions.fraction;
 7  N, D : integer;
 8   
 9 begin
10      -- get the first fraction and show it back to user
11    fraction io.getFraction ( N,D );
12  fraction1 := fractions.makeFraction(N,D);
13  fraction io.putFraction(fraction1);
14  ada.text io.new line;  -- added to improve output
15  
16     -- get a second fraction and show it back to the user
17  fraction io.getFraction ( N,D );
18  fraction2 := fractions.makeFraction(N,D);
19  fraction io.putFraction(fraction2);
20  ada.text io.new line;  -- added to improve output
21  
22     -- now start testing other functions
23   
24  ada.text io.put (" fraction1 + fraction2 is: ");
25  fraction3 := fractions."+" (fraction1, fraction2);
26  fraction io.putFraction (fraction3);
27  ada.text io.new line;
28  
29  ada.text io.put (" fraction1 - fraction2 is: ");
30  fraction3 := fractions."-" (fraction1, fraction2); 
31  fraction io.putFraction (fraction3);
32  ada.text io.new line;
33   
34  ada.text io.put (" fraction2 - fraction1 is: ");
35  fraction3 := fractions."-" (fraction2, fraction1); 
36  fraction io.putFraction (fraction3);
37  ada.text io.new line;
38 
39  ada.text io.put (" fraction1 * fraction2 is: ");
40  fraction3 := fractions."*" (fraction1, fraction2); 
41  fraction io.putFraction (fraction3);
42  ada.text io.new line;
43    
44  ada.text io.put (" fraction1 / fraction2 is: ");
45  fraction3 := fractions."/" (fraction1, fraction2); 
46  fraction io.putFraction (fraction3);
47  ada.text io.new line;
48  
49  ada.text io.put (" fraction2 / fraction1 is: ");
50  fraction3 := fractions."/" (fraction1, fraction2); 
51  fraction io.putFraction (fraction3);
52  ada.text io.new line;
53  
54 end testFractions;


Output of version2 of the test program repaired 

 ----jGRASP exec: F:\testFractions
 
 please enter the numerator of your fraction 1
 please enter the denominator of your fraction 2
  your fraction is:   1/2
 please enter the numerator of your fraction 1
 please enter the denominator of your fraction 3
  your fraction is:   1/3
  fraction1 + fraction2 is:  your fraction is:   5/6
  fraction1 - fraction2 is:  your fraction is:   1/6
  fraction2 - fraction1 is:  your fraction is:  -1/6
  fraction1 * fraction2 is:  your fraction is:   1/6
  fraction1 / fraction2 is:  your fraction is:   3/2
  fraction2 / fraction1 is:  your fraction is:   2/3
 
----jGRASP: operation complete.

